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[7206-C]
MATHEMATICS
TR ,
(Hindi & English Versions) .
[Tptal No. of Questions: 26} [Total No. of Printed Pages: 16}
[Time: 03 Hours) | - [Maximum Marks: 100]
%:—.-
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Instructions :-

(1) All questions are compulsory.

(2) Solve the questions as per the instruction.

(3) Marks allotted to each question are mentioned against them.
(4) From question no.6 to question no.26 internal options are given.

(5) Graph paper Is required in this paper.
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g1 w8 faden gaee fafew - iy
(i) 98UT x*-4x?+2 ¥ 9gUS P UG @ -
@ 4 (b) 2
©) S d 1
(i) TgUe x*-x+4 F x W'W 8 -
(@ 1 (b) 2
(© -1 @ 4
(ii) Wx-2y=4$[@iﬁ%—
@@ (0,3) b (2,2)
© 0 | '(dﬁ (0.' 4)

(iv) 3f¢ 2x-3=5, a x & 99 BF7 —

@ 2 b 3
€ 4 @ 5
) aﬁwﬁﬁfrwmwﬁwmﬁmwﬁﬁm&tmﬁmﬁ
(a) 23 (B) -f; | |
© : @ 3
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Choose and write the correct option-
()  Degree of polynomial x* - 4x2 + 2 is -
(a) 4 (b) 2
(c) 5 d) |
(i) Coefficient of x in polynomial x2 - x + 4 is -
(@ 1 (b) 2
) -1 d) 4
(iif) One solution of equation x — 2y = 4 is -
(@ (3 () 2,2)
) 4,0 @ 09
(iv) If2x -3 =35, then value of x is -
(a) 2 | (b) 3
(c) 4 d S

(v) When two coins are tossed together, then probability of finding at least

one head is-

@ ; ®) :

© 3 @
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g2 fRA T Rel B R w Rag Al @ gt AT —

T
.................................

M @WRYI Ao . g

1
(iii) 92 &7 A7 -1

W) PEY+P(E)= ...

(V) % &7 maaT =

.......................................

Fill in the blanks from the given options -

(1) Zero of polynomial x + 2 is

---------------------

...............

ooooooooooooooooooooo

(iv) P(E)+P(E)=

.....................

(V) Volume of cone is

llllllllllllllllll

(2/-2)

(0. 0/ (1. 1)
(2/3)

(0/1)

G mr?h/nr?h)

(2/-2)

(0,0 (1, 1))

(2/ 3)

/1

(';? T‘rzh/ﬂn“!h)
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Ud ¥ /99y § IR Qfog —

(i) WRad Fhaww § = A Iogaw a@ B 2
(i) Y (@ ~2) frw aqeter ¥ Rem ¥

(iti) 2, 3 AR 4 ST WEFER 9™ B

(iv) RS &1 aifraem w4 vl & |

(V) 100 U1 & Yarud) o1 ITeRw g |

Write the answers in one word/ sentence -

(i) Highest power of variable in linear equation is..........

(ii) Point (3, -2) is situated in which quadrant?
(i11) Arithmetic meanof 2,3 and 4 .........
(iv) Maximum value of probability is ..........

(v) Give one example of monomial of degree 100.
frfofaa § /s fafay -

i) 5 T& Rdg v

(i) yRAE T GE@ i@ e B R

(iii) qof 3o AT A q9T BB

(iv) @it orRIeT 10—16 ¥ 10 & B I=a ARl B |
(v) ©F P JET AR = 62"

Write. true/ false in the following -

(i) V5 is a rational number.

(ii) Every whole number is an integer.

(iii) The whole is greater than its part.

(iv) In the class interval 10 - 15 the upper limit of class is 10.

(v) Surface Area of a cube = 6a.

(5%1=5)

(5%1=5)
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U5 W WAl §IT — (5><1~¢!
WY w9 ‘q
(i) -§5+2 (a] ]2 |
ve 2
@ o b) 3
(i) (-4)(-3) © -3
(iv) 0.1 2
. (d)y =
(v) =
3 (e) 0.02
4
O =
Match the columns -
_‘A, ‘B’
@ -5+2 @ 12
i) =
| (b)y 3
(ili) (-4)(-3) © .3
(iv) 0.1 .
- (d) =
1 f
™ 3 © 002
1
49) m
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U6 isih;ﬂﬁ’mtﬁqﬁﬁu ded s AT |

97

98

Find two rational numbers between %und g :
d¥ar/ OR
é ® T B W7o A
Rationalise the denominator of :}‘E :
RS 4,3)® 49 3 B 1 99 faRav)
Write abscissa and ordinate of point (4, 3).
a1/ OR
aeta e 3 Rt g 1 Rt ReffRa a7 arch e e e el
@ T =n1=r &?

What is the name of horizontal and the vertical lines drawn to c_lletv;énnine the
position of any point in the Cartesian plane?
14, 25, 14,28, 18, 17, 14,20, 14 %7 -Tgei® T BT |
Find the mode c;f 14,25, 14,28, 18,17, 14,20, 14.
sgar/OR
10,7, 13,20 3R 15 &1 ARA TG BT

Find the mean of 10, 7, 13, 20 and 15. |

()

@)

@)
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99 TP FARR GgHA b1 awe 90 @i . &) T ¢F GO P T 30
B A T g @ g o & g (fere) s AT @
Area of a parallelogram is 90 sq. em. Its one side is 30 cm long. Find the

distance between this side to its opposite side (Altitude).

F@M/OR

Frefofen sl & § S aeh @ & JuR U 6 R

YRl & 4 Rua 82 R Rufy § swafis ey e 3F1 FERR Y@

ferfag |

Which of the following figures lie on the same base and between the same
parallel lines? In such a case, write the common base and the two parallels.

E B
A B A B
E
(i) (i)
9.10 9REM Fa #ifdre —
'Find the perimeter — - (2)
| 5
|
1
1
1
4
91/ OR

§+ fara’r*ram'aﬂﬁm
Find the sum of 4§+ 41.
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=\ p |
a1 0'8aﬁq$m’}'mﬂﬁﬂﬂﬁm Wiel p ol Qe & don q# 0 €1

912

913

Express 0.8 in the form E-. where p and q are integers and q # 0.

A /OR
—— 3 T I Rgem B

Rationalise the denom; .
nator of
\f§+ \ﬁ ’

W2x+y=7$aﬁgg‘[gﬁﬁf@q|

Write any two solutions of equation 2x +y = 7.

ar/OR

k BT A ST PG, Tafd x =2, y = | THIGRT 2143y =k P71 T &0 |
Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y =k.

a@%ﬁ,x,yaﬁ?zﬂkqﬁmwaﬂ?ﬁﬂﬂﬂﬂ%ABHCD?I

In figure, find the value of x, y and z, then show that AB | I CD.

45°

(3)
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arerar/OR
ATl §, ZSPR = 135° 3R £PQT = 110° g @ £LPRQ @ PIAT |
In figure, ZSPR = 135° and ZPQT = 110°, then find ZPRQ.

S
PAi3se
: 110°
“—G 3 —>
Y14 UG TP B BT 10:13:7:6 D arquict F ¥ | ¥@ GG D T BT 09

BT |

The angles of quadrilateral are in the ratio 10:13:7:6. Find all the angles of
quadrilateral. | |

- $yEr/0R
IR TS @ P @ o g
Write any three properties of a parallelogram.

15 Fo gt 3 R (3,4, - 4,-4), (1, 3) 5, - 6) R 7

In which quadrant the points (- 3, 4, (-4,-4),(1, 3) S, - 6) lie?
s Ly 1 [ T ie

ST/ OR

fasgsti (3,00, (-2,- 1) 3R (0 - 5) B Bty
' ﬁaﬁnﬁf&fﬁaﬁm
: |

Express the points (3. 0), (- 2 ) 1)and (0, - § o
? »=3J)on the Carte .
Sian plane,
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WER DT ) 30° & v @ vae IR |
Using compass construct the angle of 30°,
3iyar/OR

W AABC 1 e @iftr, R BC =7 91, £B = 60° 3R AB + AC =
13 6L F |

Construct a triangle ABC in which BC = 7 cm, £B = 60° and AB + AC =

13cm. http://www.mpboardonline.com

TR B AR § Rl @ aq oS @ forg 200 Rrenffal BT A
R TR 9T St B A & e foreg forn T €

Hd fenferal o @&

TS Y © 135

UHG A8l ®d § 65

TRRaT ST ATeTe fb argEd g Tl fael -

(i) qifeaa Tag &l 2|
(i) iRt e & P 2 |

To know the opinion of the students about the subject Statistics, a survey of

200 students was conducted. The data is recorded in the following table-

Opinion Number of students
I

Like 135

Dislike 65

______,_—————_'___d-——-—'—_ i
Find the probability that a student chosen at random

(i) likes Statistics

(ii) does not like Statistics

()
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Juar/OR
©F b M A 0@ weer qea g @ wE 30 A A 6 aR e
W%lﬁwamﬁmﬁaﬁmﬁwwwl
In a cricket match g batswoman hits a boundary 6 times out of 30 balls she
plays. Find the probability that she did not hit a boundary.

TS ABCD § AC = AD 2 3R AB ®10T A & GAGHIRAT @var 2|
¥EY % A ABC=A ABD 2

w18

In" quadrilateral ABCD, AC = AD and AB bisects ZA. Show that

QABCEAABD.
C
A B
D
| YA/ OR
Prisit & watmmrar # P IR DR oy

Write any four criteria for Congruence of Triangles
16 %Wﬁﬁwmhwwmmﬁamg
|

Prove that equal chords of a circle subtend
€qual angles a (he |
€ centre,

(@)
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derar/ OR

3T A ZABC = 69° 3k LACB=31°8), @ £BDC 5T AN

n figure. ZABC = 69° and ZACB = 31°, then find £BDC.
D
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=
3
=3
: (4)
S g & P -
g
g Solve -
£
& (i) 3002 -2149
—
5 ) 1254035
% s/ OR
L % <7 AT ST BT |
7
3
Find the sum of l,:l+ - @
521 & PIY —
Solve -
(i) 165x23
(i) 1005%5
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e[’/ OR

T W fofay -

Write in Decimal form-

M —

(i) ==

922 TGS T P - )

2x°+Tx + 3

Factorise -

22+ 7x +3
ear/OR

SUYA HAAADT BT YART XD (-2x + 3y + 22)? HT AR PR |
Expand: (-2x + 3y + 2z)’ using suitable identity.

U23 X +2y=6 e i | ()
Draw the graph of x + 2y = 6.

J9q1 / OR
TP TR A Sl a7 fowrn e & -

e freiniiex &1 fmmar 8 ¥ ¥ ok 9w 71T A 3 B g wRY Rreifex
ﬂ%ﬂﬂ?ﬂ%lﬂﬁﬁﬁﬁﬂ%‘{ﬂxﬁﬂﬁﬂ@?@ﬁ%@y?ﬁ?ﬁ
91 3 W wiiewl fafay sl e smor @if )

The taxi fare in a city is as follows - http://www.mpboardonline.com
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For the first kilometre, the fare is ¥ 8 and for the subsequent distance it is Z 5
per km. Taking the distance covered as x km-and total fare as Ry, write a

linear equation for this information and draw its graph,
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524 TF PO T &% s g, Roread < e g v ol 11 4 & 9N
forear oiRemg 32 3 3

Find the area of a triangle, two sides of which are 8 cm and 11 ¢m and the

perimeter is 32 ¢cm,

yuar/OR
1% PHWER UE ABC @ 4ot 120 9, 80 A AR so A | T H
B Fd DA |

A triangilar park ABC has sides 120 m, 80 m and 50 m. Find the area of this

wod duijuopieoqduu mmm//:dny

park.
A
B : 120m
7.25 mamﬁﬁﬁﬁammwmﬁﬁaﬁm—
D 0-20 | 2040 | 40-60 |. 60-80 | 80-100 1001201 120-140 | zgz:r {
Treierar 5 8 4 3 2 2 L 6 | 30
o Tl | 3 E
Draw a histogram representing the given data-
Marks 530 ] 2040 | 4060 | 60-80 | 80-100 | 100-120 | 120-140 | Total
No. of 5 8 4 3 2 2 6 30 1
Students |
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sra/OR
W W A geard @ 10 A9 ¥ Prafied Mo @ -

2.3.4.5.0.1,3,3,4,3

¥ Ml B A, IS 3R qgerd @ P |

Following number of goals were scored by a team in 10 football matches -
2,3,4,5,0,1,3,3,4,3

Find mean, median and mode of these scores.

H26 ¥ wg A AR ok frfe S w21 AW AR 28 ¥ 2| gwe
AT T PIfTY |

| o 6)
The height and the slant height of a cone are 21 cm and 28 cm respectively.
Find the volume of the cone.

o/ OR
Fromn 21 0. 9 1@ ant W B fore s AT -
() o T S

(i) T T dawa

Find-

(1) the curved surface area

(1) the total surface area of a hemisphere of radius 21 cm
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